	Fitting model
	Regression type
	Function
	R-squared
	P-value

	Linear
	Classical
	y=120.26x+47.37
	0.33
	0.03

	
	Robust
	y=74.23x+97.04
	0.26
	0.02

	Polynomial
	Classical
	y=-40.67x2+267.89x-62.79
	0.35
	0.09

	
	Robust
	y=-72.57x2 +337.86x-86.81
	0.30
	0.04

	Logarithm
	Classical
	y=193.3ln(x)+170.8
	0.35
	0.03

	
	Robust
	y=126.42ln(x)+169.98
	0.33
	0.002

	Power
	Classical
	y=138.21x0.96
	0.51
	0.004

	
	Robust
	y=223.63x0.27
	0.04
	0.29

	Exponential
	Classical
	y=79.05e0.57x
	0.44
	0.01

	
	Robust
	y=196.37e0.14x
	0.03
	0.31


